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A ladder 5 m long is leaning against a wall.
The bottom of ladder is pulled along the
ground away from the wall at the rate
2 m/sec. How fast its height on the wall
decreasing when foot of the ladder is 4 m
away from the wall ?

blG] ﬁfﬁlﬁ :

Evaluate :

dx
[ 5 + 4 sinx 6x2

&l FIf
Solve :

dy
xdx+y:.rlc}gr
BT I
Solve :
(D2 +3D + 2)y =e™* + sin 2x 6x2
af mfew 21 - ) + Kk, 1+ 2) — 3k aiR
31 + pj + Sk TR & A p & T T FHo |
If vectors 2i — 3 + E i+ 2} — 3k and
31+ pj + 5k are coplanar, then find value of p.
T i -
Evaluate :
2

sinx dx
Jsmx+s\x 6x2
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Question No. I is compulsory, answer any Five
questions from the remaining.

e GV & Ty 5rTl 1 FHHEIT UF G g6 0
Solve all parts of a question consecutively
together. '

gedes Gvd #1749 79 § IR Fiford |

Start each question on a fresh page.
gt qrarsn 7 s g7 # Rty | st srars &
T E

Only English version is valid in case of
difference in both the languages.

afg 19p =2 9p 7t r =t AT A o

If 1P =29P then find .

x? e¥ sinx T x & HIUET STaFHe Fied |
Differentiate x° ¢* sinx w.r. to x.

=1 sraereT FHTROT W1 SR UE 9T W9 i
Determine order and degree of the following
differential equation :

3
dy 2|
{1+ dv }E
=Kk
drz
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fag @R fag (-1, -1), (2. 3) T (8, 11)
UEEE E |

Prove that the points (-1, —1), (2, 3) and
(8, 11) are collinear.
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Evaluate :
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Prove that :
[
2 i ] -+ 1_

1f x ¥
+3 ]H] .

X
log (1 +x)=77"+

fag =it

Prove that :
sin5x — 2 sin3x + sinx

: = tan x 6x2
cos5x —cos x
foi=y tfigen weaToT PR 6 Et it
Solve the following system of linear
equations :
x+y+z=6 x+2z=7, Ix+y+z= 12
faz It
Prove that :
1 a &
1 b b l=@-bb-c{c-a)a+b+c)
1 ¢ ¢

6x2
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(-2, 3) F A TE WA T Ix—4y + 2 =0
F T E |

Find equation of the line which passes
through the point (-2, 3) and parallel to the
line 3x —dy + 2 =0.

sfaTaer 17 - 2y? - 2x + 8y — 1 = 0 F1 F=,
AT, AT 7 ST U AT i T A
Find the centre, foci, length of axes and
length of latus rectum of the hyperbola
X =2y - 2+ By~ 1 =0, 6x2
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Examine continuity of the following

function at x =0

[ i’: T (@) (i x# 0

0 , @) (EHx=0
Hﬁ"y:{_x +\!ﬁ]m,ﬁ}ffﬂ3ﬂﬁﬁ"i‘:
Ify= [.1.' + \/ﬁ]m, then prove that :

(1 +.1’2}:r'2 +_l':,-’l - mjy:ﬂ_ 6x?2
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